< o cot(y) >

................................................

3= =1 o T 2 3 093

TP n (PCA to beamline) TP n (PCA to beamline)

—s=— DQM_V0001_R000000001__Global__mkFit100Timeo_ RECO
—— DQM_V0001_R000000001__Global__mkFit100Time__RECO

e | e [
O Z O e
A B N B
s | s [

R L L e L LR < - L I T
O ~20e 5 v —20f

|
N
o
I
|
N
o
I

|
D
o

-80 1)) ST S NN RO NN e
o160 glmuuuuu
T = -

(04 14 C
1 i R S AR R SR iy
993 =1 0 1T 2 3 0993 =1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
s I
X -
A 0.8F
D_'_
S 0.6_
o 0.4f
v
0.2

o

-0.2F
-0.4F
-0.6F
-0.8F

Ratio
s

0.5

23T 0 T2 73
TP n (PCA to beamline)



	Contents
	Page 1


